ENBUERINZETRES
(B) SH344H1H

HERUEEANELRTH 2B RES

e

F—ESHE—HN R TEREMIEARR)

(£) HM4E3H31H

(BT . [)
BERIE FHE(A) RE(B) ZR(A)-(B) =2

ESTON 1, 754, 000 1,760, 000 -6, 000
SHBEIRA 0 0
ESTTE) DN 700, 000 920, 000 -220, 000
IREREEBRINA 12, 414, 000 12, 460, 500 -46, 500
FZEESINA 13, 436, 000 13, 469, 302 -33, 302
GE=T)ON 0 0
EET PN 1,615,000 1,703, 350 -88, 350
BRI RINA 0 0

=EE DN 0 0
MEARRBEINA 73, 140, 000 74, 777, 901 -1, 637, 901

g |EABABZIRA 0 0

A | REE L ERA 0 0
RESZINA 0 0
BPTIEBRINA 0 0
BRI —E XS BEITA 2, 880, 000 2,942,220 -62, 220

| |EsmEszIA 0 0
2| |EEBZEIA 0 0
| |[BASHSHBISIA 0 0
g |EEEEIWSNA 0 0
c| |EERERLRRA 79 -79
L] [zofomA 34,210 -34,210
B SR THIRE LSRR 0 0

3| [EEeAct (1) 105, 939, 000 108, 067, 562 —2, 128, 562
W[ XEERTE 83,507, 000 83, 137, 520 369, 480
X |mxEmHm 13,789, 000 13, 425, 291 363, 709
EHEERH 7,121, 000 6, 648, 725 472,275
BT R T 0 0
BEEETH 0 0

F IS £ AR 78, 000 33,288 44,712

N EES 0 0

X | tEEeRSseBEE 505, 000 367, 190 137,810

H [iEm S 0 0
SHBEZH 0 0
BResH 240, 000 240, 000 0
aiBe%H 20, 000 10, 000 10, 000
THFEZH 0 0
ZOMOZH 0 0

B EETHMIES LSRR 0 0
FEEHRLT (2) 105, 260, 000 103,862, 014 1,397, 986
SEEHEENEAR (3) = (1) - (2) 679, 000 4,205, 548 -3, 526, 548
R REmIEIRA 0 0

M| |fEREmEEHEA 0 0
= | IR | SBIEESBASIIA 0 0
x| A | EIEEESSHINA 0 0
B[ROt L BIRA 0 0
| |EERERERAG (4) 0 0 0
C| [EEAEREASEEEERE 0 0
; Eha=i3: = 0 0
7 | B SRR - BT 0 0

D [ [Ir1F> 2 -2 EEORER L 0 0
IRl |zoftoMs B mECL 3T 0 0
%|  [mEEmERrE (5) 0 0 0
T EREESNZ A% (6) = (4) — (5) 0 0 0
ElfEEEaEB AT taBanHalRA 0 0
EHSESSREBARIRA 0 0
BESEIEASINA 0 0
EHESFSEIRIRA 0 0
AN 0 0

IR | A7 EREEERERIR A 0 0

LA PN iva=i:3: GO 0 0
o |EEEELSFTREBEBASINA 0 0
t| |EEEELATEPREMEEIRRIA 0 0
0| |EEEIESAHBASIRA 0 0
= ZOMMDTEENCLBUXA 0 0
gy | [EOMDBEBIEAG (7) 0 0 0
c| [FHEEEREAETamERE 0 0
< |eEsEBEASTSEESE 0 0
& |EmEgeEE 0 0
| |EaifEsEE 0 0
R, | Rt A 0 0
¥ |, [ErEEs 483, 000 481, 500 1,500

1/2



HEFUEEANELITH 2B RES

U EE R AR RIMEASRER S 0 0
EEREIESRITRIEMEST 0 0
EERUEESRIHRASH 0 0
EZOMMDEENCL BT 4,660, 000 4,655, 520 4,480
TOMMDEENSTIHEL (8) 5, 143, 000 5,137,020 5, 980

ZOMOFEENESINTZLR (9) = (7) - (8) -5, 143, 000 -5, 137, 020 -5, 980

FREx<t (10) 15, 088, 000 13, 774, 000
-1, 314, 000

SEIESINERAEt (11) = (3) + (6) + (9) — (10) -18, 238, 000 —931, 472 —17, 306, 528

HIEARSIAE SIS (12) 18, 238, 000 18, 652, 275 -414, 275

SRS ERES (11) + (12) 0 17,720, 803 -17, 720, 803

2/2



